AOFAEHZRIEHE wh—1)—/420245 & HFE

B R it B = I = 15 (84)

1000 | H & ffE F C 2—1 H LW F CIR sh BT |BHPRERKZES S 2 K (BAHED

12230 | A C Bh A 3—0 m B /A F |R HEE |FHRPRERKFT S VR
AR 1000 | F C + & @& 1—2 T H = R |R + * |[+HATEERRSE (+F)

1230 | & F S C 1—3 |[+fMBHE*vy#H—XR +EA | HHAHEERES

1000 | A C 38h Al 1—0 Z B = iR |R S5z —k | EHRPRERKES S K (BESE, A8
10868 | 12200 | 2 R ¢+ — R EH| 4—3 F C KX 4 f|R T B |[BHRVPRERKRZEI SR

1400 | B & . F C | 0—3 F C+ & @& R Ry |BERPRERKEIT SR

10:00 | F C X # fi| 6-0 |[+fHFYH—X|R BLbt [BLLEEIVS & S AE (B SE)
R 1200 | 8 Vs> & F C| 2—1 m B /A F |R ARyt |[BUSEETLNS & 5 2E

1030 | FCc+E®| 2-2 |8 HEFCIR HEE [EHRPRZHEAFEY S 2 K (GAAD)

1230 | A C 3\ B | 0O—1 | H & 8 F C |R BLLE [ERPRERKET 52K
10R2TH 11:00| # F S C 0—9 | F C X 4~ IR + ¥ |[tHAHEERES (+F)

13300 | 5 R4 —AREFH| 4—0 |[+FBEFvYH—X|R I F |[+AEmEERRS

10000 | R4 —FKREHK| 2—2 |85 & F C|R A F |BRPRFRRFET SV N (ASE)

12200 | H & #fE F C 5—1 F F S C |R SZ24—K|BERPRERKEIT SV F
11A3g | 1000 | F C + E & | 5—0 w B /) F R + ¥ |THEHEEREE (+F)

12200 | £ B = iR 4—1 F C X # IR B B [THMEmEERRKS

14:00 | A C 3&h A7 3—0 |[+#IHB*vH—X|R ZE B |[tMEmEEREKS

1030 | Z2 B8 = R 5—0 A F S C |R + BB |SRMEOHKE LHRS (&)

13300| F C + & @& | 1—3 F C AKX # i |R Z B |SRTROZELRERS
A 11:00 | B & € F C 3—0 |+FIHBFvHh—X|R sh AT |BEHPRERKRZES S > F (BAHED

13:00 | A C 38h AT 3—0 | B LW & F CJR HERE |BRPRERRZET SV F

10000 | '8 B /\ F 0—5 F C X 4 @ R + F |[THEHEREREE (+F)

12200 [ R 4 — R EH| 8—1 A F S Cc |R B OB [TNEmEERES
HAsE 1400 | B & i F C | 3—0 T B = R |R E F |[+tHMEHEEREKS

10000 | /8 B /\ F 1—2 A F S C |R I |[HHEmEERES (+%)
1218 [ 12200 | &2 B = R 0—3 |[+fIH*vyH—X|R +HEHEERRS




